Equation of a Line in Slope y-intercept Form

1. Identify the slope and the y-intercept of each line:

2. Find the slope and y-intercept of each line:
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3. Write the equation of each line in question #2
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4. Write the equation of each line. State its slope and y-intercept if they exist:

a)

Equation: = a
Slope: 'wz &

y-intercept: bz ol
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Equation: x = Y
Slope: - undeFing d

y-intercept: none
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Equation: %=-2

Slope: 1M undiFined

y-intercept: non¢

d)

Equation: Yo
Slope: wm:0

y-intercept: |, -O




5. The line in question 4 part d) has a special name. What is it?

The 7. anis

6. The slope and y-intercept are given. Write the equation and graph each line:
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7. State the slope and y-intercept of each line, if they exist. Graph each line,

a)y=-5

slope: m =0

y-intercept: = -~
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slope: m= 0

y-intercept: b = 3.9

byx=1
slope: Umaé“\”'g

y-intercept: nev\&.
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b)x = —2.5

slope: undm

y-intercept: roné_
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8. The distance-time graph of a person walking in front to a motion sensor is shown,

a) How far from the sensor did the person begin walking? TTEE T

T
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b) How fast did the person walk? (find the slope)
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c) Did the person walk away from or toward the sensor? Explain.
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10. Identify the slope and the vertical intercept of each linear relation and explain what they represent.
Write an equation to describe the relationship.
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Slope: WM< L @F@&Q Slope: M= 3 ° 2 (m;e oF werage oo ‘\j%ﬂ:')
y-intercept: b5 |- 5 Lsrormisy disvonce) yeintercept: 620 (ot crrcunkitice)

Equation: \3 = X+l.0 Equation: ,3__ ESa



12.
Yuri tries hard not to be late for class, but sometimes he does not

quite make it on time. Class begins at 8:30 A.M. The distance-time
graph shaws hIS progress from home to school one morning.
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Write a stery abeut Yuri’s trip to school. Include the speed, distance,
and time in your story.
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6.1 Yhe Equation of a Line in Stape gIntercept Foren:

¥ = mx + b, pages 295-307
L Egquation Slope Fintercapt

3) | y=dx+t 4 1
4 &

- I 3%+3 & 3

) y=x-2 1 )
= 2

G} ¥ ax '% 4]

Q) y=3 0 3
=yl -

fl | ¥=2-x 3 1 _%

2, a)slope 3; y-intercept 2
b} slope —2; jintercept 3

1.
<) slope 2 pinturcept —2

. g .
d} slope ~ = yintercept ~2
Layy=3x-2B)F=-2x+3
1
Qy=gx—2dy= —§x~—2

4 @)y = 2; slope 0; Finturcept 2
b)x = -3; slope undefined: no J-intercept
€} x = 4 slope undefined: no y-intarcept
& y = 0; slope 0 Jintercept 0

5. x-axis
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7. a) slope ©; y-Intercept ~5
B) slope undefined; no y-intercept

£} slope &; yinbermept g—

d} slope undefined; no y-intercept
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B. a} The person was at an inftial distance of 1 m frora the
SENSL.

) The person was walking &t a spesd of 0.5 m/s.

€) The person was walking away from the sensor. Thiz
Is bocause on the praph, the person's distanoe from
the sengor Increases as time goes by,

1. 3} slope 1; tintercapt 1.5; The slope represents
Shannon's walking speed of 1 m/s away from the
sensor. The fintercapt represents Shannon’s initial
distance of 1.6 m away from the sensor; d = £ + 1.5.

B} slope %; a-intercept 0: The slope shows that the
circumnference of the frunk is three times its age. The
a-interoept shows that when the tree began to grow
from a seed, it had vircumfsrence zaro. € = 32,

12. Answers may vary



